BEAM FLANGE TRACK SYSTEM HARDWARE

AmMCraft

MANUFACTURING, INC.

Hardware List

Beam Flange Track System

Please find below on the first page a list of components you would use to mount a beam flange track
system. If you are using additionally to the beam flange track system another track system which

Beam Flange
Connector

2x set screws included

Beam Flange
Split Support

Beam Flange
Corner Connector

2x set screws included

Beam Flange
T-Connector

3x set screws included

needs supporting hardware, please find the supporting hardware on the last two pages.

Plain Connector

<

P/N: PC-K38

P/N: BFS-K88

P/N: BFC-K87 P/N: BFA-K89 P/N: BFT-K90

Qty.: Qty.: Qty.: Qty.: Qty.:

SetS Straight Track Curved Track Roller Steel Roller
et Screw traight Trac With Plate
<~ >

53 \

All set screws come JTR-K10 for2'  TR-K13 for 6' 45° - P/N: 45P-K27 Nylon - P/N: NY-K42

in one package TR-K11for4'  TR-K14for7' 90° - P/N: 90P-K25 Steel - P/N: SR-K44 P/N: SR-P

TR-K12 for5'  TR-K15 for &' 2x set screws included
Qty.: Qty.: Qty.: Qty.: Qty.:
4 Wheel Trolley Pull Rope Trolley Overlap Trolley

w/ Steel Rollers

P/N: SR4W-1

Wall Mount End Stop

Flange Up P/N: WMESU-K33
Flange Down P/N: WMESD-K32

Adjustable End Stop

P/N: ESA-K31A

w/ Steel Rollers

4ft Rope - P/N: PRT-K80
10ft Rope - P/N: PRT-K10

w/ Steel Rollers

4ft Rope - P/N: OLT-K70
10ft Rope - P/N: OLT-10

Qty.:

Qty.:

Qty.:

Qty.:

Qty.:




-
L.
—
LL
oc
<
=
Q
oc
<
L
(72,
<
=
-
o
®
<
=
72,
<
LLl
o
72,
-
Vp)

AmCraft

Components List:
Supporting Hardware

1" Threaded Rod Clamp Unistrut holes on 3 sides U-Bolt
P/N: S-10003-length
Available 2' to 10' .
9/16" dia.holes !D/N' 52785
P/N: THRCL 1.7/8" on center incl. 2 nuts
Quantity: Quantity: Quantity:
3/8" -16 Threaded Rod Thr.eaded Rod 11/16" Swivel Clamp
Incl. 3 ea. Nuts Side Plate
\%y
\%y
\%y
P/N: THR Length .
Availablein 2,3, 4', 6' P/N: STHRMP P/N: SLTHRCL
Quantity: Quantity: Quantity:
Unistrut connector Unistrut connecting plate
4x 4 X
(D
4 X

=

P/N: S-1067 EG Includes : 4 each Bolt 1/2" - 13, 1.25" long
4 each threaded nuts

P/N: S1377 EG Includes : 4 each Bolt 1/2" - 13, 1.25" long
4 each threaded nuts

Quantity: Quantity:

847-439-4565 | sales@amcraftonline.com | www.amcraftindustrialcurtainwall.com



A/* C ﬁ Components List:
/ I I I rd Supporting Hardware

Quantity: Quantity:

Threaded Rod to Truss

W)
<
O

-

|— Strut to strut connection Strut connection to Threaded Rod
(n Hardware package Hardware package
I

&5,
<L 8

A ..J
e e
O P/N: S2S Includes: 1 each Bolt 3/8" - 16, 4" long P/N: TROD2S Includes: 1 each washer
— 2 each washers 1 each lock washer
h 1 each lock washer 1eachnut3/8"-16
1leachnut 3/8"-16

I

P/N: TROD2T

Includes: 1 each big flange washer
1 each regular washer
2 each lock washers
2 each 3/4" -16 nuts

Quantity:

847-439-4565 | sales@amcraftonline.com | www.amcraftindustrialcurtainwall.com




